Step 4. Attach large drawer panels (parts O & P) to large drawer back panel (part Q) using small
wood dowels (part #2) and lock the hardware. Slide drawer bottom panel (part R) into
grooves of assembled unit (parts O, P & Q). Attach large drawer front panel (part N) to
assembled unit (parts O, P & R) using small wood dowels (part #2) and lock the hardware.
Repeat for remaining drawer.

#2 2 x8

Step 5. Attach left panel (part B) to bottom panel (part D) using large wood dowels (part #1), barrel
nuts (part #7), long bolts (part #8) and allen wrench (part #14).

#1 & x2
#7 @ X2
#8 x2

#14 % X1

sskitchensource.com

= 1.800.667.8721



Step 6. Attach front rail (part G) to left panel (part B) using large wood dowels (part #1). Attach left
partition panel (part E) to front rail (part G) and bottom panel (part D) using large wood
dowels (part #1), barrel nuts (part #7), long bolts (part #8) and allen wrench (part #14).

#1 % )
#7 @ ‘
#8 ) ;:‘Fv?h:‘ W X2

®‘
#14 X X1

Step 7. Attach front middle rails (part H) to left partition panel (part E) using large wood dowels (part #1).
Attach right partition panel (part F) to front middle rails (part H) and bottom panel (part D) using
large wood dowels (part #1), barrel nuts (part #7), long bolts (part #8) and allen wrench
(part #14).

sskitchensource.com

= 1.800.667.8721



Step 8. Attach front rail (part G) to right partition panel (part F) using large wood dowels (part #1).
Attach right panel (part C) to front rail (part G) and bottom panel (part D) using large wood
dowels (part #1), barrel nuts (part #7), long bolts (part #8) and allen wrench (part #14).

# & x6
#7 @ x2
#8 o x2

»
#14 X X1

Step 9. Carefully turn unit upright. Attach back panel (part I) to assembled unit (parts B, C, E & F)
using short bolts (part #9) and allen wrench (part #14).

sskitchensource.com

= 1.800.667.8721



Step 10. Attach towel bars (part X) to left panel (part B) and right panel (part C) using bolts (part #10)
and allen wrench (part #14). Attach support panels (part W) to back panel (part |) using large
wood dowels (part #1), long bolts (part #8) and allen wrench (part #14).

i

#1 X2
#8 x4
#10 @ x4

#14 % X1

Step 11. Attach top panel (part A) to assembled unit (parts B, C, E, F & |) using large wood dowels
(part #1), flat washers (part #12), spring washers (part #11), bolts (part #10) and allen
wrench (part #14).

#1

#10

#11

#12

#14

sskitchensource.com

= 1.800.667.8721



Step 12. Slide assembled drawers into place.

J

Y,
\

Y
AN

\V/
R

Step 13. Place shelf holders (part #13) into desired position and then slide left adjustable shelf (part U)
and right adjustable shelf (part V) into place.

AN/

N

) |G

< N
@

VA

‘

#13 oF x8

3

T~

sskitchensource.com 10

= 1.800.667.8721



Step 14. Attach door panels (parts S & T) by placing bottom pin hinges (pre-installed in door) in
the pre-drilled holes of bottom panel (part D). Then depress the top spring-loaded pin
hinge so it can be placed in the pre-drilled holes of front rails (part G).

Note: Be sure top and bottom pin hinges are fully extended to secure doors in place.

/777

11

sskitchensource.com

= 1.800.667.8721



